





Q9. _ Calculate median from the following data : 4)

Mid value : G ifl5£-95: 1355 A5zHus5.- 165 75
Frequency : 15 7 11 10 13 8 20 16

Q10. Present the following data by a percentage bar diagram : (4)

Items of expenditure Expenditure (in )
Family A Family B
-Food 6,000 5,000
Clothing 4,500 2,500
Rent 3,000 1,500
Other expenses 6,500 1,000
OR

The data below give the yearly profits (in thousand of rupees)
of two companies A and B :

Year 2008-09 2009-10 2010-11 2011-12
Company A 120 100 140 20
Company B S0 80 g0 100
Represent the data by means of a suitable diagram. (4]

Q11. (a) Calculate arithmetic mean by step deviation method
{Take A = 6)
Proﬂt (¥ crore] (less than) : 4 5 12516
No. of Companies : a2 12 14 15
b Sté{e any two merits of Vmean. (4+2=06)

@Q12. (a) Write a short note on cluster sampling.

(b) What are the advantages of sampling aver censns
meihod? (3+3=A)

OR
{a)  Write a short note on convenience sampling.
(bj  Distinguish between random sampling and non-random
sampling, (3+3=6)

(3)




Q13.

gl4.

Q15.

Qle.

Q17.

* Britishers? (3)
What were the positive impacts of reforms in 19917 3
GRS
Why has the industrial sccior performed poorly during the
reform period? (3

Q18

Find mode by grouping method : : _ 8

Marks Number of Students
0-10 4

10-20 44

20-30 38

30-40 28

40-50 . 6

50-60 B

60-70 12

70-80 2

SECTION-B (Indian Economic Development)
Land reform means : ' (1

(a)  Measures to improve quality of land

(b) To make available more land

(c)  To solve problems regarding distribution and size of
land.

(d) Al the above

Self reliance objective of planning meaﬁs reducing

dependence (1)

(a) ofone individual over the other

(b)  of one region of the country over the other

=

(¢} of couniry on foreign aid

(d  of country on foreign trade

What is meant by export surplus? How was Il used by

Write a short note on the foreign trade policy of the government
during 1950-1990. : (3)

(4)
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